O0OOOooo ooooo o OO00OO000 OoOooocoooo o

[ o o

0000000 O0O00O00oooo

oo ooooobn

NSK Miniature Bearings

NSKOOOOOooooooo

254742
\
!g!?ﬁ ) —B— Hr_1
& v
r
D+——d 4+ 1
i
@P
| C — Y
: 0ooooon
0ooooooo 00o0000oooon ooo 0 ZZAD
e 000000 MO000000DO e J000000MMOO000000
oooo | |pofeo]o 0oooooo oooo | [oojeo]o Ooooooo
N S K O O|/O0|] NTN | NMB/|INSEK O/0/O0| NTN /| NMB
681 670 O O 0 |681 0-310 681XZZ 320 0O |15 0 |wesl15zz —
MR31 O m] o |[15|— 0-310W51 691XZZ 540 0 |15]26 w6901.52zZ |(O-515Z2Z
691 540 O 0 |16|691 J-410 601XZZ 540 0 |15 0 |weol15zz |0O-615z2Z
MR41X 540 0 12|18 |BCl124 0-412 68227 480 0 0 | 2.3 |W682z2Z 0 -520ZZX
681X 540 0 |15|12|68015 0-415 MR52ZZ 320 a 0 | 2.5 | WBC2-5ZZA | 0-520ZZW52
691X 480 0 15| 0 69015 0-515 692727 440 0 0 0 | We692z7zZ 0 -620Zz2
601X 480 0 |15|25|60015 0-615 MR72Z2Z 480 a ] 0 |WBC2-7ZZA | 0-720ZZY03
682 460 g 0 [15]682 0-520 60227 480 d0 0 |3.5|we02z2Z 0-7202zX
MR52 460 ] ad 0 |BC2-5 0 -520W02 682XZZ 480 0 |25|26 |w6e8025z2z |0O-6252Z
692 440 B 0 |23]692 J-620 692XZZ 480 0 |25]35|wW69025z7z | [0-725ZZX
MR62U 460 O 0 |25 |BC2-6 0 -620W52 602XZZ 480 0 |25| 0 |weold25zz |0-8252ZX
MR72 460 B 0 |25 |BC2-7 0 -720Y52 MR63ZZ 380 a 0 | 2.5 | WA673ZZA 1-630Z2Z
602 460 O 0 |2.8]602 0-720 68322 380 0 ] 0 |we83zz 0-730zz
682X 460 0 |25]1.8 68025 0 -625 69327 270 a0 ] 0 | We693zZ 0 -830z2z2
692X 460 0 |25]25|69025 0-725 MR93zZ 430 0 O 0 | WBC3-92ZA | [-930ZZY04
MR82X 460 0 |25]25|BC2.5-8 0 -825Y52 62327 380 10 | O 0 62322 0-10302Z
602X 460 0 (25| 0 |60025 J-825 63322 O 13 | O 0 |633zz —
MR63 400 g g 0 1673 0-630 MR74ZZ 430 0 0 | 2.5 | WA674ZZA 0-740z2z
683 430 O ] 0 |683 0-730 MR84zZZ 380 a [} 0 | WBC4-8ZZA | [ -8402Z
MR83 430 g 0 [25|BC3-8 J-830Y52 68427 380 B 0 0 |wWe84zz 0-940z2z2
693 400 ] g 0O |693 J-830 MR104zZZ 380 10 | O 0 | WBC4-10ZZA | 0 -1040Z2Z
MR93 430 g 0 [25]BC3-9 0-930Y52 694727 320 11 | O 0 |694zz 0-11402Z
603 430 O a 0 |603 0J-930 60422 320 12 | O 0 |e604zz 0-124027
623U 350 10 | O 0 1623 J-1030 624727 380 13 | O 0 62472 J-1340z2z2
633 O 13 | O 0 |633 63427 400 16 | O 0 |634zz 0-16402Z
MR74 380 B B 0 | 674 0-740 MR85ZZ 400 O 0 | 2.5 | WAG75ZZA 0 -850z2zZ
MR84 380 m] a 0 | BC4-8 -840 MR95ZZ 400 ] ] 0 |WBC5-92ZA | [0-9502Z
684 430 B 0 125|684 0-940 MR105Z2Z 400 10 | O 0 | WBC5-10ZZA | 0 -1050ZZ
MR104 430 10 | O 0 | BC4-10 J-1040 68527 400 11 | O 0 |wWe85zz 0-11502z
694U 300 11 | O 0 | 694 [1-1140 69527 320 13 | O 0 | 69527 [1-1350ZZX
604U 300 12 | O 0 | 604 0-1240 605272 400 14 | O 0 |605zz J-1450Z2z
624U 350 13 | O 0 624 0-1340 62527 | 16 | O 0 62527 0-1650Z2Z
634U 400 16 | O 0 |634 [1-1640 635272 O 19 | O 0 |635zz 0-1950z2z2
MR85 370 g g 0 675 -850 MR106Z2Z 350 10 | O 0 | WAB676ZZA J-1060Z2Z
MR95 400 ] 0 |25 |BC5-9 0-950 MR126Z2Z 350 12 | O 0 | WBC6-12ZZA | 0-1260Z2Z
MR105 400 10 | O 0 |BC5-10 0-1050 686ZZ 350 13 | 0 0 | W686z2Z 0-13602Z
685 420 11 | O 0 | 685 [1-1150 69627 O 15 | O 0 |692zz [1-1560Z2Z
695U 300 13 | O 0 1695 0-1350 606ZZ 430 17 | O 0 | 6062z 0-17602Z
605U 380 14 | O 0 | 605 0-1450 MR1172Z 430 11 | O 0 | WA677ZZA 0-1170z2z
625 0 16 | O 0 | 625 [1-1650 MR137ZZ 430 13 | 0 0 |WBC7-13ZZA | 00 -1370ZZ
635 O 19 | O 0 |635 0-1950 68727 430 14 | O 0 |we87zz 0-14702Z
MR106 400 10 | O | 25676 J-1060 MR128ZZ 350 12 | O | 3.5 | W678ZZA 1-1280Z2Z
MR126 400 12 | O 0 | BC6-12 0-1260 MR148z2Z 350 14 | O 0 | WBC8-14ZZA | [0 -1480ZZ
686 420 13 | 0 | 3.5|686 1-1360 6887272 320 16 | O 0 |wWe88zzZ [1-1680Z2Z
696 ] 15 | O 0 | 696 0-1560
606U 400 17 | O 0 | 606 [1-1760
MR117 400 11 | O | 25|677 0-1170
MR137 400 13 | O 0 |BC7-13 0-1370
687 420 14 | O | 3.5|687 [J-1470
MR128 400 12 | 0 | 25]678 0-1280
MR148 400 14 | O | 3.5 |BC8-14 [J-1480
688 400 16 | O 0 | 688 [1-1680

=



